Montageanleitung

Schutzrosetten PZ und KS

(®) B 0 ) 73\
[] M @ ™

[—

)

0| @ 0
iipid I
@WE/ '

N
@ beil. Schrauben fiir TS < beil. Schrauben fiir TS

2x M5 x 50 40-49 mm (®) 2 x M5 x 50 35-46 mm
PZ 2 x M5 x 70 60-69 mm KS 2x M5 x 75 58-70 mm
@ 2x M5 x 90 80-89 mm @ 2x M5 x 90 74-86 mm

@ \.\@’ & Q"ﬁ. - @
\§)

~/
4=
@@g@
oo TV

F @
\
G
\
@

®

F—
®lo o v

(%)

0 e

10-17mm

@
\

N

2

Nr. 42431
05-01-2023



	Seite 1

